Math 308 — 201 Quiz 13 7/31/2018

NAME (print):

No credit for unsupported answers will be given. Clearly indicate your final answer

Given the system
.’1}’1 =21+ T2
(L"z = 4321 - 2$2

1. Write the system in matrix notation x’ = Ax.
2. Find the eigenvalues and eigenvectors for the coefficient matrix A.
3. What is the general solution of the system?

4, Sketch its phase portrait. i ﬁ f‘ D} e
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Math 308 — 201 Quiz 14 8/1/2018

NAME (print):

No credit for unsupported answers will be given. Clearly indicate your final answer

Given the system

1. Write the system in matrix notation x' = Ax.
2. Find the eigenvalues and eigenvectors for the coefficient matrix A.
3. What is the general solution of the system? Make sure it includes only real-valued functions.

4. Sketch its phase portrait.
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NAME (print):

No credit for unsupported answers will be given. Clearly indicate your final answer
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1. Write the system in matrix notation x' = Ax.

2. Find the eigenvalues and eigenvectors of the coefficient matrix A. ,\t(- ( .}L) - -b ) M {1 -1 Hb= 6]
3. Find a generalized eigenvector. OL\WQC{? ,’bﬂgéf /’L + 49/1 1"? O

4, What is the general solution of the system? ( At 5 =0 QP tg

5. Sketch its phase portrait. .
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Given the system

R R N PR S T

; ‘71 ( Il> (”OW@;r}éE)m(J@ & A 5 ({}feg‘jb&

(4 =4/ W :(l>;9 4m/~4W:1:' |
N Th ) wg \

Wiy = L' L[mq)

— W( W= O a ,\/- ’\;\?: -f'Jq
w = | (l o e ) = _ 0 _ °
"'-Z(_ [ 4 ‘ /

PSS
e e e m

“______1;9‘;,@?

=

General o(’edi?@mf,m‘.,,, »ww) _54;"..




¢ portrack .
-3 FWM }b e , Countr Clock WAL .

4*

in |



Math 308 — 201 Quiz 16 8/3/2018

NAME (print):

No credit for unsupported answers will be given. Clearly indicate your final answer

Given the system ) P
o) = —2z1 + 2y + 2e X = -2 | ;;. e
$!2=$1—2$2+3t ] \ -—l \ 5*’_

1. Find the form of a particular solution using the method of undetermined coefficients. (DO NOT solve for
unlnown constants).

i

2. Find a particular solution using variation of parameters x,(t) = f U (g (t)dt

3. Find the Laplace Transform of x(t): L{x(t)} = X(s) = (sI - A)~ 1G(S ‘\
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